
Inequality Between the Three Potential Energy Results, And Describe Why Each

Path Could Be a Candidate For the Minimum Potential Energy Path.
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Some Basic Mathematical
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drt '  
=  e '  >-SIr lX = COS X,-COSx

Identities That May Be Useful Are:

= -sin *,Lrunx = sec2 x ,

4-xn = nx'-t ,Lsinhr = cosh *,L"orh* = rir*'*,*ranhx = sech2x ,

cos '  x+s in2 x  = 1,cosh2 x-s inh2 x = 1,cosh x = (e '  +  e

cos' .x = [t *cos(zx)] I 2,sin2, = [1 
- cos(z*)ft z,

cosh 'x  = [cosh (zx)+t ] /z ,s inh 'v  = [cosh (z*) - t ) tz '

- ' ) /z ,s inh ,  =( r ' - t - ' ) t 2 ,

s i n x r  x - x t  / 6 , c o s  x x l - x ' l z , s i n h x N x + x 3 l 6 , c o s h x  = l + x z  1 2 " 9 ' = 1 + x , ( L +  r Y  o l + a x


